

Simplifie les écritures ci-dessous :

$$2 \times 5 \times d = \dots \quad 3 \times e \times 8 = \dots \quad b \times 2 \times a \times 4 \times c = \dots$$

$$3 \times (n + m) = \dots \quad (a + b) \times 5 = \dots \quad 6 \times b \times (5 \times e + 7) = \dots$$

$$(e + f) \times (s + u) = \dots \quad 4 \times b \times (a + 3) \times a \times 2c = \dots \quad 2b \times 3a = \dots$$

$$A = 3 \times a \times b = \dots \quad B = 3 \times a - 4 \times b = \dots \quad C = 8 \times a \times b \times 2 = \dots$$

$$D = 3 \times (2 \times a + b) \times 5 = \dots \quad E = 2 \times \pi + \pi \times 7 - 1 = \dots$$

$$F = 2 + 5 + 3 \times b = \dots \quad G = (2,5 - 1) \times a \times b = \dots \quad H = 2 \times 3 \times a \times (b \times c) = \dots$$

$$2 \times a + 5 \times c = \dots \quad a \times d + 5 \times 8 = \dots$$

$$38 \times (3 + 2 \times c) = \dots \quad 3 \times z - 0 \times b = \dots$$

$$3 \times 7 - d \times b = \dots \quad a \times (3 \times 9 + b \times n) = \dots$$

$$0 \times u + 1 \times m = \dots \quad 54 \times h + g \times 52 = \dots$$

$$a \times 6 \times n + 3 \times p = \dots \quad 9 \times m \times 5 + k \times j \times 8 = \dots$$

$$A = 2a + 3a \quad B = 2b - b \quad C = 2x + 5x - 3x \quad D = 2a + 5x - x + 3a$$

$$E = x + x \quad F = x + x + x + y + y + y + y \quad I = x \times (x \times 3) \quad J = a \times a - a$$

$$K = 3x \times 2x \quad L = 27 + (x - 13) \quad M = 7 - 7x + (-2x + 7) \quad N = 12a + 3b - 12a + 3$$

$$A = 3 \times 2a \times 5b \times a \quad D = 3 \times 2a \times 5b \times a - 6 \times 2a \times 3$$

$$B = (-2b) \times 5 \times y \times 3a \quad E = y \times 3a \times (-3y) \times (-4)$$

$$C = 7 - 4a + 2a \times 3b - 5 - 7b \times 2a \quad F = 5b - 6a \times 4c + 3 - 7b + 2c \times 12a$$

